5
m

DESCRIPTION
SIDE RAIL
DOCK CORNER
END RAIL
DOCK RUNG
DOCK DECKING
LFT. STRAIGHT HINGE BAR
RT. STRAIGHT HINGE BAR
4 HOLE SOCKET
DOCKPIN
10]3/8"x 1/2" S5 SET SCREW
11]516"x 2 1/4" §S BOLT
12|5/16" SS LOCK WASHER
13|5/16" SS HEX NUT
516" x 2" S§S LOCK BOLT

@ Parts List
g

L= =1 ] e nd DY I [ ) )

N N

Alumidock’

DETAIL A



